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(a) Management accounting is an extension of managerial aspects of cost

accounting. Explain the statement and clearly distinguish between cost

accounting and management accounting. (9)

(b) Defrne and explain responsibility accounting. What are the pre-requisites for

intioducing responsibility accounting in a company? (9)

Or

(a) "Management accounting is nothing else but financial ald cost

accounting tailored to the requirements of management." Critically examine

the statement. (9)

(b) Explain the concept of responsibility accounting. Discuss creation of various

types of responsibility centres for its effective implementation. (9)

2. (a) Write a brief note on Budgeting Key Factor. (4)

(b) PS Limited produces and sells a single product. Sales budget for calendar

year 2025 as per quarters is as under:

Quarten I II m IV

No- of urits to
be sold

18 000 000 25,000 27,offi

The year is expected to open with an inventory of 6,000 units of finished

products and close with inventory of 8,000 units. Production is customarily

scheduled to provide for 7 0%o of the current quarter's sales demand plus

30% of the following quarter demand.

You are required to prepare quarterly as well as whole yearly statement

showing opening stock, production and closing stock of the product.

( l4)
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Or

The Budget Manager of a company is preparing a flexible budget for the coming

accounting year. The company produces a single product. The following information

is provided:

Direct material costs Rs.28 per unit. Direct labour averages Rs.12.50 per hour
and requires I .60

hours to produce one unit of the product. Salesmen are paid a commission of
R5.5 per unit sold.

Fixed selling and administration expenses amount to Rs.3,75,000 per year.

Manufacturing overheads have been estimated in the following amounts under
given conditions of volume:

Prepare a total production cost budget at a production level of 1,40,000 units
stating clearly the cost behaviour of each cost to output.

Volume of Production & SaIe

Expeli-re For 110,0fi) units(Rs.) For 150,(M unlts(Rs.)

Indirect materials 2,9,000 3,30,000

Indirect labour 1,50,000 1,87,500

Inspection 90 000 1,12,500

Maintenance 84,000 1,02,000

Supervision 1,98,000 234,O0,.)

Depreciation-Plant &
Equipment

90,000 90 000

Engineering services 94 000 94 000

Total Manufacturing
Gverheads

9,70,000 1rs0p00

P.T.O.
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3. ABC Limited., a manufacturing concern which has adopted standard qosting

furnishes the following information for the month ending March 31,2024:,

The standard mix to produce 10 units ofproduct Z is as under:

Material A 300 kg. @ Rs.30 per kg

Material B 400 kg. @ Rs.50 per kg

Material C 500 kg. @ Rs.40 per kg

During the month of March, 2024, 100 units of product Z were actually produced

and consumption was as under-

Material A 3,200 kg. @ Rs.35 per kg

Material B 4,750 kg..@ Rs.55 per kg

Material C 4,350 kg. @ Rs.36 per kg

Required: Calculate the following material variances:

(i) Material Cost Variance

(ii) Material Price Variance

(iii) Material Usage Variance

(iv) Material Mix Variance

(v) Material Yield Variance

Or

(a) Calculate : (i) Efficiency Ratio; (ii) Activity Ratio; (iii) Capacity Ratio, from

the tbllowing information :

Budgeted Production 750 units

Budgeted Hours per unit 5

Actual Production 780 units

Actual Hours taken 4,000 (6)
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(b) Compute the sales variances (total, price and volume) from the following
figures :

PnoducUQuan tity/Price
Budgeted Actual

Units Price (Rs.) Units Price (Rs.)

A 4. 000 ')a 4,800 30

B 3,000 50 2,800 45

C 2,0N 75 2,4W 70

D I 000 I00 8m 105

(12)

(a) MFN Limited started its operation in 2022-23 with the total productiotr
capacity of2,00,000 units. The following data for two years is made ava abre

.toyou:

2022-23 2023-24

Sales units 80,000 1,20,000

Total cost ( Rs.) 34;40,000 45,60,000

There has been no chahge in the cost structure and selring price and it is
expected to continue in 2024-25 as well.

Selling price is Rs.40 per unit. you are required to calculate :

(i) Break-Even Point (in units)

(e)

4

(ii) Profit at 7 5%o of the total capacity

P.T.O.
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(b) The following data relates to a manufacturing company :

Plant Capacity = 4,00,000 units per annum. Present Utilization = 40Yo

Actual for the Year 2021'24 werc:

Selling price = Rs.50 per unit, Material cost = Rs.20 per unit'

Variable Manufacturing costs = Rs.15 per unit and Fixed cost =

Rs. 27,00,000.

In order to improve capacity utilization, the following proposal is considered :

ReduceSellingpricebyl0%andspendadditionallyRs.3,00'000inSales
Promotion.

How many units should be produced and sold in order to increase profit by

Rs.8,00,000 Per Year? (9)

0r

(a) what do you mean by PN ratio? Discuss its significance in decision-making.

How it can be improved? (6)

(b) The cost-volume-Profit relationship of SR Ltd. is described by the equation:

Y = Rs.2,40,000 + 0.6X, in which X representS sales revenue and Y is the

total cost (FC + VC) at the sales revetrue / Volume represented by X'

Required

1i) ldentify the P/V Ratio.

(ii) What sales volume must be obtained to break- even for the Company?

(iii) Analyze Sales volume to be required to produce an income Rs'1,00'000'

( l2)
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5. SR Ltd. gives you the following details of its existing operations

Selling price (Rs.) 20

Variable Cost per unit (Rs.) r5

Fixed Cost (Rs.) 50,000

Actual Output and Sales (units) 25,000

The management is considering a proposal for modernisation of its production

operations.

As per this proposal the cost structure is estimated to be as follows :

Selling price (Rs.)

Variable Cost per unit (Rs.)

Fixed Cost (Rs.) 1,50, 000

As a management accountant ofthe company, you are asked to give the following

calculations and advice for consideration by the management :

(i) The level of output.under the proposed alternative where the company will

earn the same amount of profit as being earned at existing level of sales

oporations.

(ii) Range of sales where existing operations and the proposed modernization

will be more profitable. Whether, the company should consider the

modernization of production facility at existing level of sales operations.

(iii) Prepare a comparative statement of profit under the two alternatives if the.

company plans to produce and sell 30,000 units.

P.T.O.
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(a) Explain the concept of key factor in management decision making with

examples? Also discuss the criteria used to measure the relative profitability

when a key factor is in play. (6)

(b) Isha Ltd., produces three products A, B and C and for each of them uses

three different machines X, Y and Z. Relevant data for June, 2024 are given

below :

Pmduct A B C

Selling Price per urit (Rs) 10,000 8,000 6,000

Variable cost per unit (Rs.) 7 000 5 600 4.000

Machine-wise hous requirod per unit:

Machine X 2t) 12 4

MachineY 20 l8 6

Machine Z 6 1

Expected Demand (tmits) 200 200

Machine Z is identified as the bottleneck and its capacity is limited to 5,400

hours. Calculate the optimum product mix from above information and

ascertain the total profit at the mix so determined if fixed cost amounts to

Rs.7,80,000 (12)

0r

20

200
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(i6) nqtm ffi't qrrrc fuo< + vffiq vrgu) ar fr<n *r q'm d
qrer dRq slt mrm torsr{ F lrctn lqkn * &s HE uc t S\{t

dfr'vr (c)

fia) rtrrake A€io-{ d cfu{kd dRs st qqsqgr frffi 6ffi t rrccrfue

ffiT qG 6t* + frs Rr 1i-ilqvcq-drE *i (s)

BI2IEIT

(m) "wr+ M6-{ rk Ao <ff cFm, rctm * ilsyffitr* * w5w i<n
frqr qql ffiq Bfu errrc i€iq-r tr' Es 6,r;r qT qrdtfiriqfi qtelor

dtuqr (c)

(ts) sscefts fu6-{ + ereuRqr d q.rsrssr E(+ yqre qrd;qq-{ * frs Rfuq
ymn * TficqrnFE AA + ffir qr rql dfust (c)

z. (t') ara ffiwr + xgq 6Rfi cr v6 ffiR tqofr ftfrsr (a)

(c) Cs{ ftfrts \rqi- ff rtqrs 16T irflniFr sk kS qr<r il **si q{ eozs *
frs ffm mc ffi t wgun ffqqm * 

'

frcrfl' I II ilI N
ffi qr+ srft
{6r{fr fi
de{r

18 000 11 000 25,000 27,N0

a{ * gwra, tqn ifliEt- * o,ooo qa.r*ir- * qft * rsm stt wrk e,ooo

Eo,r{d d gS * qrq A+ * sqmr tr smc* d !flrc nk c{ sEffi
d ftff qm * zox Bfu s{rfr ffi d rmr * sox + fts futfit fuqr
qtat il flczr] srqrE * g[sr& ffi, rtqrEq str nqrq-+ dq'c] ffi gv

ffi st{ $ qfr &-qtur +qR srcr tr (ra)

1.

P.T.O,
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SI9T'TI

Rq. qffi rhr iru-e y-cr[o., flrqffi erEr s{ * fts rir a*ar effc tqn qr ra
*r cffi vq' fr vere qcrfr il ffifud urrort fr rr{ i:

rsq crqff d errm ze nqt vfr mr{ tr remr sm stsil{ rz.so dqt yR trcl

I *t sern * q-o rcr€ rfir sf,ilirr qrti + ftg r.oo * * qlsv{+'dr Etft

tr Mr d +S rr€ n+q,. E6r€ .R s rqt qr q"*m Rqr qrm tr fifrqa fi-fi
qk mrfi qc cfr s{ s,zs,ooo {qt tr

ifffrfr q?t ftft fi cl?.r

EFT
r,zqoooqfirtfr * ftq

(€. )

r,so,omEorqfr h Rg
(!" )

qrerr qrrft 2 64 000 3,30,000

qTFIqT Tq 1,50,000 1,87,500

fr'ftTsr 90 000 1.12,500

TGr(qFT 84 000 1,02,000

q{aqlr 1,98,000 2,34,O00

6"1-6v-tt{a *< vq+'<q 90 000 90,000

qSffiTr W 94,000 94,000

gv Pffirr +{AST 9,?0,000 11,50,000

r,40,ooo Eq,r{q] + Tclri;r RR tR Efi YaIrdI{ arlril qffe AqR dfrS, ffi r&6,
FFriT trT emz:f{ .n Erq'fr EttttR Fr€ s.I i q-drqr rqr E}r

Rffiq ffi$ ql tr{qFr, fr rr€ ffir fr rrtr + il6-d ffifu{ qRrfr { aqrqt

qqr t:
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3. grr Effir nfr€Fr ABc ftfr}s, Grs+ rrrc' arrm ftutor t} qrcrcr i, sr q{

zoza c} rmrqr qra t frq ffikd urcort vEil qrtn i'

vfltil z * ro r+r$fr rfir sflr*r c.A + ftq w{t- ftrrur ftraEHR l:

<l{fi A 366 ft'ur. @ so rqt nR Eirr

fl(fi e aoo fr-m. @ so tv+ cfr fu{r

{rr{t c soo frn @ 40 {qt vR fun

w{, zoza qrg * +{T, u*n z 6 roo EmeA rrr qrtnr I uerr< ftqr rrqr

Jil{ rg.rd ffcq n6R *-

cFrfr a s,zoo fr-{T. @ os rct vR frur

rrr& n 4,7s0 frfi. 6l ss ort vR frur

mrfr c 4,3s0 frfi. @ so tct vR frur

rq{{rs': ffifra il{fr frffird} * Tsr* dfrs.

1t; trrfr amr frqm

0D trrrfi Aa ft<ar

Gii) cr{rfi sq+.r fu{dr

(iv) md frryor Fr*rdr

(v) qrqfi srfr frqdr

SI9raIt

P.T.O.
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(6.) wr+ dfrs: (i) ssdr tr{qmc (ii) ffiRe qqrnc (iii) trTir sEcril,

ffikr ilffirfr +;

cqEa sqrrc 750 {qir{ql

{frFd qa cR E6r€ s

qrmft-q iratrr{ zeo g*Trd

sr<hq. qa 4,000 (c)

fr) ffifur fl@ t kfi k{irrr (fE-a, te *t crdr) fr rrurn dfrq:

sFTrE/qrTr/qvq
ffiFd ActuaI

a+,r€ rlq (8.) rtrf {Fr (r. )

A 4 000 25 4"800 30

B 3,000 50 2,800 45

C 2,000 75 2,400 70

D I 000 100 800 105

(tz )

4. (q) lqqsw frfrac + 2o2z-2s { e,oo,ooo Eq,r{A 6 Ea stqr€ rrat *
cTE iilrfl cR'{rfir g6 frqrr t s{ + fts ffifuo }cr flIq-d sqirq 6rtqr

rrqr *,
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2022 - 23 2023 - 24

ftff F+.rstr 8o,ooo l,2o,ooo

aa arrm (r.) 34,4o,ooo 4s,6o,ooo

arrril Trr{r ft fi-ff {€ I +{ qrors {& Eeir * *r orfi-e * fu qa

2024_2s t rS urt rlrnr

R-ff at+ 40 {qt cfr $-c *t rrur+ dfrs:

(i) t6-t+t dre (1hc +)

(iD Efi effdr * zs% qt ar:r (c)

(ra) ffifur *a rt, frffior qffi t riffir *:

wre errdl = 4,00,000 {B-a cR q$r q-dcr{ 3tr*{ = 40%

s{ zozs-za + ftq qnaR-*. +:

frffiq {€ = s0 tq} yh ffir{, <rrft errm = 2s {qt yR S6r€,

cM'ftq Effir arrre= rs wt yfr Eq-r{ *{ ffF+t arrro = 27,00,000 nr&t

ermr w&fr d guR 6ti * ftq frrqRkr lrftFr rR fr-qr fucr urm *r

ft-rc T€ i rox fr a,,fr dRs ft fufr ffir i sfrfm s,oo,ooo dqt

d dFqsr

an { yR qq o,0o,0oo rc} d EE q,t* + ftc fuil+ Fol€+ 6r sf,niFr

ifti frfr * vrfr qrBs? (c)

P.T.O
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5.

t4

3lgr.It

(c') p/v irdqil t f,rqol rmr ilfrnrq t? Adq i+ i rrt qrm vt qqt dfrsr

E<} fr( n6R Em fu'qr ur qqif,r i? (o)

(ra) r<un frRls + drrrr-{:rr-FntT frr A qfi'orq ilrt qFfd frqI Tqr t:

Y = Rs.2,40,000 + 0.6x, fuui x ffi rrqs E{Ifm i ak v ffi
ircardtep rR Ea dr.rir (FC + vc) I frr* x a<r s{tcl rlcr *r

$trl!Ftr6

(i) Piv r-{cm uX q5q6 dfrvr

(i0 6Tft + frs i-o.-{e-{ tg ftilfi ft'fr qnr vm tfr qrfi utBs?

(iii) r,0o,ooo wt 6 urc $( u.A ff* qrer qr ffiqqr
qtr (tz)

sn RR& ilqs] $c+ +Wr cF{ttrr qr ffifue R'+tqr tdr *

tuc {ic (c)

cft E6r{ cffi*c irrn (c)

Rn arm (r)

snf,Fq' lrsrc* at ffi (E6rtd)

20

s0,000

25,000

l5

y{Em ilq+ 36p6 qrrit + irqffi'm * cran tr{ fuR qr ta *r Et r<tlq

* q<n mrm q.d{r ffqrT{R a3clfrd *'
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frm.+ ae (t) 20

rfr F+,r€ cR{+ftq arrr (r.) lo

ftn arrn (r) r,so,ooo

q,tffi + y-crrrr fucroR * sq l, B{rc+ rrqrn ERr frqR + ftq ffikd rtirE
*t wra i+ + frs q-a urar l,

(i) c<rkd fuil + ir€rd irf,nrr ol rffi sd qnrfr kfr t'{il{ * *Wr et
Er sffiil mr{ * q{qt f,iq $rfdil 6tt

(ii; kff * q-6 tcr ilri +{fl cR,mm *{ r<Ge urgfr+qilq sfr*,, anr+rt

*rnr wr qffi d frff cRqrfi + {Wr rrt ct irflrfi SBur + arqffifr.{ur

c( frqR q'm qBgr

(iii) qR ftffi so,ooo Eqrt& 6r lrflrfir str R-fi e.{+ fr +ffir E;ne A, *
A frftrd * rro gm 6r Ea-{ffi6 Rsrur *qR dftql

3T9T'TT

(o,) mtlt fffiq{ + I@ 6rro fr flEnm * T{ra{'fr t <rq rffir(?

w *S I{6{ arc6'q,c + srff * A infun Frqreff * crc i-g cfr{ RR

uA sre qmcS .R ct e-d s+r (c)

(e) {rn frfrts fi-r vdn€ A, e *i c tnr yFn€r a-r& t ft v<} t e-&s

+ frc +{ qtrrr-sa{r qfidt- x, y lnt( z qr ssfur qr& tsr Er, 2024

q 6q yrffq- ta fti frqr rrqr t.

P.T.O
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vqr( A B C

cfr rtr€ fr*c qro rt.l 10,000 8,000 6,000

cft {s€ qF:s-&ffq qFkT (r. ) 7,000 5,600 4,000

ffi E+rf qqft++r< qrs{{fi qt.

qqftr x 20 12 4

qctm v 20 l8 6

qqft{ z 20 6 2

qqfr{ ciq rr+rrqtr 200 2N 200

qdF;r z d clrn * sq { EEfr frqr.rql * st EeS errrr s,loo qt rft'.

ftRa *r sqtffi uffirt t tsrc sea ftnq * rrsr+ dRs rk F{ v.fiR

ftfRfr frrrur vt Eil nflrr tnr rrtr nrflrig, qE frkd mrrc zpo,ooo tqt

*r (tz)

( 10,000)


